CLASS 10
HEREDITY AND EVOLUTION
REFERENCE

Law Or vominance: I the TWO alleles at a I0cus aier, tnen
one, the dominant allele, determines the organism'’s
appearance; the other, the recessive allele, has no noticeable
effect on the organism’s appearance

Law of Segregation: the two alleles for a heritable character
separate (segregate) during gamete formation and end up in
different gametes

Law of Independent Assortment: each pair of alleles
segregates independently of other pairs of alleles during

gamete formation



- Character - momhological, anatomical or behavioral feature of an organism.

Allele - difierent alternative forms of gene ; .9, a gene for height has two
alleles: one for tall and one for dwarf.

* Homozygous - An individual with two identical alleles.

* Phenotype: observable characteristic of the some organism like color, Size, form
and structure

Eg: tall short

+ fienotype: genetic composition of an organism and cannot be seen
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MONOHYBRID CROSS
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Monohyvbrid Cross Ratio

Phenotypic ratio : 3 : 1 (3 Tall - 1 Dwarf)
Genotypicratio : I :2:Z (1 TT:2Tt: 1 tt)



PARENTAL GENERATION

Mendelian ‘Model' of Inheritance o

The true-breeders had two copies of one ™ gemurey 2 P  varoorsny "
type of allele (homozygous) \ J
Each parent passes on one of the alleles to s0% (@ sox@
the offspring randomly gametes
lCROSS~
FERTILIZATION

The first generation will all be heterozygous BRST (P
(have two different alleles) GENERATION (F,) A

phenotype: yellow-pea
One of the alleles is able to block the other

genotype: Yy

(is dominant vs. being recessive) lgg;;umm
50% Y 50% Y
’ ) EGGS \ C\' ¥ SPERM
The F1's pass on both of their alleles <
50% Y 25% YY 50% ¥
randomly X O O ¥
Simple math provides the expected ratios 25% Yy 25% Yy
of phenotypes and genotypes o
25% yy
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Cross-pollination
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Dihybrid Cross
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Sex determination in humans



